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13.

14.

29T ECON

Explain the Law of Variable Proportion with diagram. 6
oaa e ARTe e S Rf4co gt <=

Or/ ast

The total fixed cost of a firm is Rs. 200. Fill in the blanks of the following
table. 6

93 AT I T¥T T SAf{=4 200 Tl | o517 OiferiT sy = |

Output TC AC AVC MC
T '
1 == = 100 _ —
2 460 - - e
3 = 250 - -
4 — - - 230

Explain the process of Long-run Equilibrium Price determination of

perfectly competitive 1ndustry with diagram.
6

vﬁﬁﬁmﬁwwmﬁﬂﬁﬂwwﬁmﬂﬁﬁfrﬂmww
I 90

Or/ <t

Show the effects of change in demand of a commodity on equilibrium
price, if 3+3=6
(i) the supply of the commodity is perfectly elastic

(ii) the supply of the commodity is perfectly inelastic. _

B! T ST @S B ARG o Tyl R —
() TR e A g -
(i) TAOR @ o SIRfogF|
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PART-B / 4-SI24

15. (@) In what circumstances, the GDP of an economy can be equal to
GNP ? 1
fé wz/® @< ¢P1I GDP, GNP 3 5 R I ? |

(b) What is transfer payment ? ‘ 1
IR =(Re R 2 ;
(c) What is voluntary unemployment ? : 1
o et 5 2
(d) What is Break-Even income ? - -1

Areres o F 2

(¢) What is the full form of GST ? | 1
GSTT =53 witht & 2

(N What is zero primary deficit ? _— 1
==y el 9 & 2
16. Mention fwo subject'matters of Macroeconomics. 2

SR wdRen 7o {aag SE =1 |

17. Mention any two types of leakages found in the Circular Flow of Income.
2

18. What is investment multiplier ? Write the relationship 'between investment
multiplier and MPC. | 1+1=2

ﬁﬁmﬁ@%ﬁi?ﬁmﬁ@%@wwc-awwﬁml
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19. Mention the two primary functions of money. 4

TR 7 9 IR S 4 |

20. Mention two differences between revenue receipts and capital receipts.
| 2

mw@mw@ ST TSR zﬁwﬁﬁfjfﬁml

21. State two sources of supply of foreign currency. 1+1=2

@R Y@ @NR] 7o O B |

22. The value of MPC of an econemy is 0-4. What amount of new investment

is required to generate new income of Rs. 500 crore in the economy ?
4

@4 RS MPC 3 5 0-4 | SRIR4S TRt 500 (IS 561 S eifis w4
AR B sRwiag To7 RiR@eR e =37 ¢

23. Explain any two fiscal measures to solve the problems of excess demand in
an economy. 2+2=4

amw@ﬁwwﬁwmwmmww Ricre 7o1 iecmid Jagl
TR T[]

24. Mention four factors causing disequilibrium in Balance of Payment of a
country. - 4

]

G (PR AARTNY FAOTS SRR R T4 A5 BAMR S 4

25. Write down four differences between Direct Tax and Indirect Tax. 4
ACTF T WE 2T TN e 51967 ALy T |

26. What is Budget Deficit ? What are the three types of Budgetary Deficit?
| o 1+3=4

et w9 & 2 qees qits oAt & - ¢
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27.

28.

Describe the Circular Flow of Income in a Three Sector Economy. 6
@< TS0l Qee wdTifer oimm oem exed Rt fra
Or/ WQNT

Explain the Expendlture Method of calculating Gross Domestic Product
(GDP). / 6

@w@amﬁmemWW|

Explain the'process of credit creation by corﬁmercial banks. 6
ARTT @T 9t e efFmd T T |

Or/ 9]
Describe the Quantitative methods adopted by the Central Bank to control
credit created by commercial banks. 6

aifdfere @ AR T 39 fNEges wa@ﬂ@wmwﬁmqrwﬁcﬁ
Sl <91 |
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1.  Answer the following questions : ' ' 1x12=12

AU )

fraiaie Sex WAl ¢

Fill in the blanks :
AT T 7T FA S

(a)

(b)

(c)

(@)

(e)

‘Assam Secondary Education Board’ was established on the basis of
the recommendation of the

‘w7 WS frs 39 3 R Sl i 11 @A |

The name of the second largest Open University of the World is

T foslm IR o RRwe 99 |9 2= |

‘World Population Day’ is observed on .
‘R T A O #le " S0 = |

Thilisi International Conference on Environmental- Education was
heldon =

Fﬁ%ﬁ@mﬁ%oﬁmﬁmwﬁm e TS (2 |

The basis of reward and punishment in education is the laws of
of learning.

e =i oie o= fofe (g Fieaa IS |

method of learning establishes bond between natural

. tendency and artificial stimulus.

(g)

(h)

29T EDUC

fii=g WW%@WWWWWW
Hioi FF | |

Give short answer in one sentence :
Gl TS C&F 73 ¢ .
?
Mention one objective of non-formal education. .
SRIAT PR @b S TrE 4|
What is Physical Education ? -
NS Frst e F2

3

[2]



(i) What is the meaning of Insightful learning ?

S R wy F2

(j) “We attend to a small stain on a white wall” — why ?
“QIN 9 (wARTS A I Aol GOrS Wi e - frg” ﬁm?

(k) Write the formula for finding out Mean by ‘Assumed mean method’.

‘TS T TES'T NG el R It )

()  From a batch of 15 students who had appeared for an examination,
5 students failed. The marks of the successful students were — 48, 78,
55, 72, 40, 66, 60, 44, 70, 58. Calculate the median.

<5l Wwﬁcfmwwﬁwﬁ{@ﬂm m%smﬁm@fuﬁf
C2feET | TElf Rrmidt seeTs 799 TR (2 — 48, 78, 55, 72, 40, 66, 60, 44,
70, 58. 3T Wt Nl 4 |

2. Write two problems of secondary education in Assam. 2
o Wi Fwir 5o e Ra &

3.  Mention fwo 1mportant impact of Kothari Commission on the secondary
education of Assam. .4

SR Wi e WWNW@mmWWWl

4. ‘All open education is distance education, but all distance education is not
open education.” Give two reasons. 2

Wﬁmwﬁﬁ@ﬁwﬁmwﬁm@ﬁﬁww (24
XS

5. Why non-formal education is called complementary to formal education ?
Write two reasons. 2

‘wmﬁﬁwwwwﬁﬁwgﬁﬁmmwv ﬁvwcﬁﬁm

6. Mention fwo characteristics, of population education. 2

SRRl PreiR ghr Catiey oEd 11|

29T EDUC . [3] & Contd.



10.

11.

§ 40

13.

14.

15.

- Write two principles of Environmental Education. 2

AR FrFg Rrear 7o S forat |

Mention with which laws of learning, the following proverbs are related :

1+1=2
O M (FRBT (I (FRD! IS 0T 7516 wfde Seard w4 3
(i) Habit is the second nature.
SR 79, I A %7 |
(i) Success leads to success.
FOILOIE FoFHTOT e A |
Mention two differences between learning and maturation. 2

i O oftofror Tem 7oy N B

Loud voice or noise and glittering light immediately attract our attention
— Explain the reasons. 2

Ems#%znﬁﬁgﬁwwxﬁ$ﬁﬁ$cﬁm?awwmaﬁﬁmmﬁiweﬁma<wﬁmqa%§ B
weeffat |

Write two differences between Polygon and Histogram. 2
I2GE T WROCHAI Mo 707 “A1LTT il |

“Forgetting is necessary for memory” — Give reasons. -2

‘el AR Jrgfon e’ — s-e wedia |

Mention two types of graph. - ‘ : 2
1foa’ 7oy el B 49 |

What are the suggestions forwarded by ‘National Education Policy” 1986
regarding secondary education ? Discuss.. 4

s FEifS, mvwmmﬁasﬁwwmmmﬁsﬁwﬁ?w '
Slicizies TR '

Why dlstance education is important for the present society ? 4
T FAEI AR F0] Frwie o efrarem 2 |

29T EDUC [4]



16.

17,

18.

19.

20.

(a)  Playing Piano

Discuss about the role of physical education in bringing forth self-
confidence and group feeling. 4

wﬁmwﬁnmwﬁmwwmww
>4 |

What is women empowerment ? DISCLISS the role of education in women
empowerment of India. - 1+3=4

WWWW@WWWW%WWWW
Sl

Or/ 51
What is meant by value education ? Write about the 1mportance of value
education in the present society. 1+3=4

TR B i [ ot I8 T JerEk e e [{aw
feral |

Write the educational significance of trial and error method of learning. -
| 4
AHB WF T i mfeq iR eieerds Raca f

Discuss the educational significance of theory of conditioning of learning.

e SaEn ©gd (xR Sies g 4 |
Write which type of memory operate in the following situation :

. : 1+1+1+1=4
o) #fREfSmze & & awiss s rare B e

IGRICIISICTAS)
() - Writing dictation

sofeifs frdice
(c) - Writing answer to the questions in the examination
(d) Pinching of a pin

o (5 e TS

?_9'1" EDUC : SRS 13| i Contd.



21. ‘Mental Hygiene is complete, harmonious and successful existence’ —

Explain the statement on the basis of the objectives of mental hygiene.
| 4

B TIPSR (R ARe, el O e ey —
TR FrPRET TrmiR Fore it IR g w41

5 Or/ 93t

Write four steps to be taken by the parents keeping mental health of their
children. . - 4

ﬁ@amaﬁaswwmwﬁz@ma’aam wﬁﬁrwﬁm%ml-

22. What is meant by Central Tendency ? Write three advantages of measures
of Central Tendency ? 1+3=4

@HIT Yol IETE T @ e @@ el ST ﬁoﬁﬁraﬁm%w

23. Represent the following data of students enrolled in a primary school by

pie-diagram : 4
wﬁmmﬁaﬁm«ﬂaﬁmfﬁwmﬂ_ﬁmw“@mﬂﬂ ‘
43 . |
Class ‘ No. of Studenté
(c=a) ' (RERTT 7WY)
Class -1 ‘ Bt
Class-1II 40
Class-III 35
Class-1V ' b6
| Or/ &

" What is frequency distribution table ? What are the different prmaples
involved in preparation of a frequency distribution table ? 1+3=4 |

RIS [Forem et e Fe amaﬁwﬁn@w—ﬁaﬂa@—mﬁ
e & & Emifs SRk 7 A

29T EDUC [6] -



24. Describe the aims of Secondary Education as suggested by Mudaliar
Commission. : 6

oI Sicast MgRRs R 7 T SSRUpRL SRR 6 <54 |

25. Write about the educational significance of attention and interest. 6

TGS S SiaiRd ke lesR [Raw &

'26. Discuss about the functions of Mental Hygiene. | 24242=6
TR FrPRey FNER SE0A 1 |

27. Find out Quartile Deviation from the following distribution table :

6
ol Rewn sifeer #[l veds fpfs Fda =t ¢
Class-Interval Frequency
(- re) (FAT)
5102 5 J SR N — 1
 C5E L S —" 4
TR T S T —— 7
as Bk NP p— 5
BT cnrmmcmamnememiiinasbssaissstitnr 8
DB oo careeraiamsenm i 10
20-24 ..o 8
15-19 e 5
(12 = 1 SR S W — 5
Bl ctihmsmimbesrecven e 2
N=55
X

29T EDUC _ [7]



